QUESTIONS: Lecture 2
Name your file Exe-2-Familyname; Return by noon tomorrow into MyCourses drop-box
1. Give the outer electron configuration for the following neutral atoms: Sc, Mn, Cu. Based on these configurations predict (with short explanation !) the most favourable oxidation state(s) of these elements.
2. How many unpaired electrons the following ions have (please explain shortly !): Mn2+, Fe3+, Ni2+
3. Indicate (with short explanation !) for each of the following pairs the larger atom/ion: Na–K, K–Ca, Fe2+–Fe3+, Ti3+–Ti4+, Ti4+–Zr4+, La–Lu
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